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VAV A FNOD S\

"SAVE"C:YEXAM4. BAS™, A

REM 1ST-ORDER DIFFERENTIAL EQUATION
REM S=KY

DIM R(200), Q(200), X(200)

K=9. 38:Q(0)=0:DT=1:N1=50

OPEN "C:¥MUKAWA. DAT™ FOR INPUT AS #1
OPEN "C:YMUXAWA. OUT™ FOR OUTPUT AS #2
FOR 1=0 TO NI-1

LINE INPUT #1, A$

R(1)=VAL (LEFT$(AS$, 6))

X(1)=R(1) /K

NEXT 1

A=-1/K

FAI=EXP (A*DT)

NU=(EXP (A%DT)-1)%A" (-1)

FOR 1=0 TO NI-1
Q(1+1)=FAT*Q(1)+NU%X(1+1)

NEXT 1

FOR [=0 TO NI

LPRINT USING"TIME=##(h) R=it#. ###(mm)

Q=###. ###% (nm/h) " [, R(1), Q(I)

PRINT #2, USING™ &%  #&. #i#
# s L R(D, (D

NEXT

STOP

END



